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=	â‰ã	yticolev	Raenil	=	V	â±ãžr	=	A	â‣	r	:sretemarap	ralulugna	&	raenil	neewteb	spihsnoitaler	)noitomm	eletcejorp	=a	Vd	=areac	)2S/TF(	hsilgne	608.9	8.9	18.9	)2S/M(	Is	Moc.yrotcaffdp.www	noisrev	Lairt	Yrotcaffdp	Htiw	Detaerc	Fdp	tcaxe	Ngem(	â€â€â	nwod	gnivom	ydob	=dis(	+	s2	=	elbac	fo	htgnel	tg	â£‚	0v	=	V	x	2	=	naps	â	¢°	C	â¯	â¯	â¯	ã¯
â¬â£¯	nl	C	=	X	â£°Y	+	sâ«â«â°	2	2	1	â’â	́â	́â	́	=	H	â°	=	)	Ngis(	â€â€â	Pu	gnideeps	ydob	=-ngis(	+	2	2	c+	s	=	Y	cw	=	h	noitin	lacitrev	:noitarecca	tnatsnoc	y	=	t	Struppus	Fo	Noitivele	Neve	ã‚	0v	=	2	V	â£ 	T	0v	=	s	ta	â±ã‚	0v	=	V	2	ta	2	1	x	+	1x	1x	=	Naps	â¸â¯	c	â°	â°	â¬â£ã¯	nl	C	=	2	â¶°	°	2y	+	s	â£°k¯	â¸â°	C	â£°	â··â¬â°	â¯	â¯	â°C¯	â¯′	for	Nl	C	=	1x	1	â¢
£ãã¡¯	â«â£ã¯	2	2	c	+	2	s	=	2y	2	2	c	+	1S	=	1y	noit	you	are	noziroH	:noitareleccA	tnatsnoC	cw	=	H	tV	=	S	2	yw	=	2T	1yw	=	1T	yticoleV	tnatsnoC	NOITOM	RAENILITCER	stroppus	fo	noitavele	nevenU	.erutarepmet	ni	esaerced	a	htiw	esaerced	dna	erutarepmet	ni	esaercni	na	htiw	esaercni	ezis	lacisyhp	eht	,secnatsbus	tsom	roF	NOISNAPXE	LAMREHT
tsol	taeH	=	Deniag	taeh	moc.yrotcaffdp.www	noisrev	lairt	yrotcaffdp	htw	Detaerc	Fdp	Retagc	%1	ã¢bl/UTB	1	=	Maetsc	Ecic	Retagc	Retagc	Retagc	seulav	seulav	seulav	taeh	ilips	earnararartmet	by	egnahc	=	tâ”ãž	ecnatsbus	eht	fo	taeh	CIPEPS	=	taeh	yutarmet	yutht	yutairt	yutairt	ssam	urararite	rewol	eht	yb	debrosba	taeh	eht	,rehteot	dedotot
dedotot	dedotoc	era	serutarepet	tnereffid	fo	sessam	owt	yrene	taeh	Fo	Noitavresnoc	Fo	Wal	Fblâ“Slujlac	257	=tf	=tf	=tf	=tf	=tf	=	silolac	87,	UT	079	=	VL	GK/JK	433	=	BL/UTB	441	=	FL	MG/LAC	045	=	Liob	Vl	Mg/LAC	08	=	EC	Fl	GK/JK	433	=	fl	Bl/Utb	441	=	Fl	Tââ	Q	.tDedam	yrotnevni	liter	dnemmocer	ew	ehc	odnamreffa	ACRECIR	ID	OTTIRID	.5
ELATNARDAUQ	°Â063	<	c	+	b	+	a	<	°Â0	.000,000,1$(	elibinopsid	elatoT	.odoirep	li	etnarud	etlov	¹Ãip	etlom	"osrevartta	erednev"	²Ãup	is	e	,otsoc	a	olrednev	,otsoc	la	onif	ottut	eranges	atsab	-otsoc	a	arig	oiratnevni'l	erarelecca	elicaf	etnemavitaler	​Ã	.°Â063	a	eroirefni	¨Ã	ocirefs	olognairt	nu	id	ital	ied	ammos	aL	.assac	id	ossulf	li	odnatnemua	e	ittiforp
irtsov	i	odnatnemua	,oiratnevni	ni	otagel	$	oidem	ortsov	li	onnariunimid	e	evruc	ertsov	el	etnemavitacifingis	onnaretnemua	etnematterroc	itaraperp	oiratnevni	id	inaip	I	.000.000.1	$	=	atidnev	id	odoirep	otseuQ	:oipmesE	atidnev	id	odoirep	omitlU	/	atidnev	id	odoirep	omitlU	-	atidnev	id	odoirep	otseuq	=	etidnev	elled	elautnecrep	enoizairaV	)01(
.000.004$	id	esem	led	oiratnevni'lled	onaip	omirp	nu	=	0.4	id	etidnev	a	oiranoiza	otroppar	li	otacifinaip	ah	X	000,001$	id	etacifinaip	ilisnem	etidneV	:oipmesE	.etnatsoc		Ãticolev	anu	noc	oihcrec	nu	ni	evoum	is	ehc	oproc	isaislauq	id	otnemivom	NOITOM	RALUCRIC	MROFINU	​​â.enoizarelecca​​âlled	enoizerid	ni	atsoppo	am	alellarap	e	,oproc	led		Ãtivarg
id	ortnec	li	osrevartta	odnega	)a()g/W(	¨Ã	enidutingam	iuc	al	)FER(	asrevni	azrof	atamaihc	airanigammi	azrof	anu	id	atnuigga​​âllad	enoizarelecca	edeissop	ehc	oproc	nu	ni	ettodorp	esrof	ehcitats	inoizidnoC​​â	TREBMELA​​âD	odnatnellar	ats	oproc	=	)anges(	​​â	odnarelecca	ats	oproc	=	)anges(	+	2	¸Î±Î2	±Â	0	​Ï	=	2	​Ï	t±Î	±Â	0	​Ï	=	​Ï	2	2	t±Î	±Â	t	0	​Ï	=	¸Î	1
noitareleccA	tnatsnoC	t​Ï	=	¸Î	g	°Â54	=	¸Î	¤​â	0	=	V	xamR	2	elibairav	=	¸Î	ossif	=	oV	:ammag	id	otibmA	elatnozziro	omissaM	2	g	0	=x	¸Î2	otaccep	V	2	=y	2	g2	th	xam	¸Î	otaccep	0V	elatnozziro	ammaG	e	azzetlA	omissaM	2	¸Î	2	soc	0V2	2	xg	2	tg	2	1	​​â	¸Î	nat	x	=	y	±Â	​​â	t)	¸Î	nis	0V(	=	y	±Â	t)	¸Î	soc	0V(	=	x	aicoleV	etnatsoc	enoizarelecca	id	opmeT	aicoleV
aznatsiD	t	±Î	​Ï	¸Î	t	A	V	S	eraenil	eralogna	olobmiS	onalov	led	oiggar	=	r	)2s/dar(	eralogna	enoizarelecca	=	±Î	eraenil	enoizarelecca	=	a	)s/dar(		Ãticolev	=	21/x	itunim	ni	atunim	onam	allad	asrocrep	aznatsid	=	x	moc.yrotcaffdp.www	yrotcaFDP	avorp	id	enoisrev	al	noc	otaerc	fdp	ilaudividni	effirat	elled	ammos	=	atanibmoc	affirat	)otelpmoc	oroval	nu
rep(	1	=	opmeT	x	ossaT	emiT/1	=	oroval	li	eraf	rep	oroval	id	imelborp	id	ossaT	:evod	ZC	=	YB	+	XA	:enoizisopmoc	alled	isilanA	C	=	B	+	A	:	Ãtitnauq	id	isilanA	alecsim	id	imelborP	A/C	=	icidar	id	ittodorP	A/B	-	=	icidar	elled		Ãtinu	id	erfic	elled	oigoloro'lled	ammoS	=	U	erfic	iceid	=	t	erfic	otnec	=	h	erfic	2	a	oremuN	a2	ca	4	​​â​Ë¢Ã	2	B	±Â	¢Ã	B​​â	​Ë¢Ã	=
toor	0	=	c	+	xb	+	2	xa	:evod	ehcitardauq	inoizauqE​​â		​â	¢Ã	u	+	t01	+	h001	orez	=	etnenamir	:erottaf	led	ameroet	)r(	f	=	etnenamir	:ameroet	itnatser	imelborP	iremun	e	erfic	2v	​​â​Ë¢Ã	1v	=	latotv	)r​​â	​Ë¢Ã	)x(	)x(	f	:otad	2v	+	1v	=	latotv	:ellav	a	o	otnev	li	noc	aiggaiv	ehc	tv	=	s	:etnom	a	o	otnev	li	ortnoc	onaiggaiv	ehc	imeroet	irottaf	e	etnenamir	emrofinu
otnemivom	id	imelborp	1	=	a	a	gol	b	gol	=	x	b	gol	x	gol	x	gol	n	=	n	=	n	x	gol	¸Â	£Â	¯Ãy	£Â	¯Ã	y	gol​​â	​Ë¢Ã	x	gol	=	·Â	£Â	¯Ã	·Â	£Â	¯Ã	¬Â	£Â	¯Ã¬Â	£Â	¯Ãgol	¶Â	£Â	£Â	£Â	¯Ã	y	gol	+	x	gol	=	)yx(	gol	2	arbeglA		ÃteirporP	x	b	=	atitnauq	=	)2emit(	)2	s	rek	row(	)1emit(	)1s	rek	row(	omtiragol	)etnatsoc	otnussa	erpmes	¨Ã(	aro-omou-1	arbeglA	.eroiggam	essa	ous
led	azzehgnul	alla	elaugu	¨Ã	de	etnatsoc	ais	ialocof	itamaihc	issif	itnup	eud	ad	eznatsid	eus	elled	ammos	al	ehc	odom	ni	evoum	is	ehc	otnemivom	ni	otnup	nu	id	sucol	nU	a2	d'	​Ë¢Ã	=	h	:)k,h(	xetrev	fo	setanidrooC	0	=	F	+	yE	+	xD	+	2xA	ESPILLE	:LACITREV	SIXA	C	D	moc.yrotcaffdp.www	noisrev	lairt	yrotcaFfdp	htiw	detaerc	FDP	=	RL	:mutceR	sutaL
fo	htgneL	h	rof	evlos	ot	k	etutitsbus	C2	E	.)IORMG	a	enoiznetta	aznatsabba	atserp	non	irotidnevir	ied	etrap	roiggam	aL	.etsoppo	itrap	elled	inosoc	ied	ottodorp	la	elaugu	¨Ã	elartnec	etrap	isaislauq	id	ones	lI	.000.055.1	$	=	).000.055	$	+	.etnatropmi	etnemralocitrap	oilgatted	la	acitametam	id	alumrof	anu	¨Ã	atseuQ	).000.051	$	rep	isivid	000.004	$(
.aznelaviuqe	id	enoizaler	anu	¨Ã	oirbiliuqe'L	=	=	=	=	=	=	S	D	d	mA	na	1A	enoissergorp	id	imelborp	itunim	ni	aro	rep	asrocrep	Progression	(HP)	First	term	NE	Term	Any	term	before	a	common	difference	sum	of	all	terms	"n.	The	desired	markup	is	56%.	(12)	Stock	sales	ratio	=	B.O.M.	$	Stock/sale	per	period.	In	The	Hallman	Company,	we	urge	our
customers	to	express	the	turnover	of	the	retail	inventory,	not	at	cost.	Example:	as	in	the	example	above,	a	B.O.M.	Stock	of	$400,000	retail	divided	for	sales	of	that	month	of	$10,000	=	a	stock	/	a	sales	ratio	from	4.0	to	1.	This	is	a	mathematical	formula	that	can	vary:	Many	companies	examine	cost	inventory,	not	retail,	during	calculation	curves.	The
task	of	a	trader	is	to	often	transform	the	inventory,	while	at	the	same	time	preventing	the	amortization	of	the	initial	markup.	Note:	This	detailed	mathematical	formula	is	useful	to	calculate	the	maximum	you	can	pay	for	an	item	you	need	to	detail	at	$100,	but	you	want	a	markup	of	56%.	HDness.	longitudinal	stress	(also	for	spherical)	Stress	bearing
stress	developed	in	the	contact	area	(projected	area)	between	two	bodies.	ï^^^^	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	Inside	the	reservoir	t	=	wall	thickness	f	=	PDF	burst	force	created	with	the	test	version	PDFactory
www.pdfFactory.com	Simpucibile	types	of	elastic	deformation	deformation:	deformation:	strain	â	€	"Report	between	stretching	and	original	length	to.	The	average	of	a	sales/sale	ratio	from	4	to	1	each	month	(supply	of	4	months	at	hand)	will	result	in	the	achievement	of	the	3	year	retail	inventory	curves.	The	sum	of	angles	of	a	spherical	triangle	is
greater	than	180	°	and	less	thanÂ	°.	Second	law	of	thermodynamics	on	entropy	the	total	entropy	of	any	isolated	thermodynamic	system	tends	to	increase	over	time,	time,	a	maximum	value.	when	the	hypotenuse	of	a	right	spherical	triangle	is	less	than	90°,	the	two	legs	are	of	the	same	dial	and	on	the	contrary.	Co-op	important	propositions	1.	here	is
another	way	to	indicate	the	same	formula:	inventory:	retail	sales	for	a	period	divided	by	the	average	retail	inventory	value	for	that	period.	the	sum	of	two	sides	of	a	spherical	triangle	is	greater	than	the	third	side.	$(44	divided	by	.44	=	$100)	(4)	$	markdown	=	original	retail	price	-	lower	retail	price	example:	original	sale	price	$100.	law	of	sones	for	the
sides:	0°	to	0°	to	0°	to	radius	b	=	radius	of	the	earth	=	3959	(6)	gross	margin	=	sales	-	cost	of	good	sale	(Maternal	market,	supposedly	called	gross	margin,	is	the	initial	margin	or	markup	minus	the	cost	of	relief	at	cost.)	(7)	margin	%	=	($	retail	-	$	cost)	/	$	retail	example:	$100	retail	-	$44	cost	=	difference	of	$56.	a+b>c	4.	100%	-	56%	=	44%
additional	cost	to	the	retail	markup.	in	other	words,	it	is	the	point	of	the	sales	volume	to	which	you	do	not	have	profit	and	no	loss.	(13)	shrinkage	=	difference	between	book	and	physical	inventory.	the	author:	james	hallman	has	more	than	20	years	in	retail	management,	both	business	and	business.	ΔL	=	LαΔT	ΔL	=	variation	in	length	l	=	original
length	α	=	linear	coefficientA	fertilizer	orez	erutaret	erutulep	erutosba	tuoba	,scimanydomreht	fo	walk	driht	.Sixa	esrevsnart	sti	FO	htgnel	ot	lauqe	tnatsnoc	cof	eht	dellac	stnio	scneff	snatsids	snatsids	osVom	=m	:Lacrev	Sixa	Esrevsnart	that	b	d	a	=	A	c	:etotpmysa	fo	noitauqe	=e	:yticirtecce	â£‚=m	:LATNOZIRYOHS	Sixa	Esxa	Esrevsnart	)h	â	(	A	=	rl
b2	2	:Muter	Sutal	Fo	htgnel	moc.yrotcaffdp.www	noisrev	lairt	yrotcaffdp	htw	Detaerc	Fdp	2b	â’â'â	́	2	A	=	c	alobarap	a	Rof	:ret	:re	htgnel	.ylesrevnoc	DNA	;ELEGNA	RETAERG	EHT	EHT	SEIL	RETAERG	EHT	DNA	,LAUQENU	ERA	ETISOPPOPO	SEED	EHT	,LAUQENU	ERA	ergnairt	lacirehps	os	tiof	Sucol	elcric	â	́â	́â	́k	:)K,H(	Xetrev	Fo	Setanidrooc	0	=	f
+	Ye	+	XD	+	2yc	:LATNOZIROH	Sixa	XETREV	OT	XETCERID	MORF	ECNATISDIDSID	CNATATION	=	A	:erehw	.aera	gnitsser	eht	ot	ot	lellap	deilppa	ECROF	eht	nehw	depoleved	sserts	sserts	gniraehs	apk	523.101	)era	ralucidnep	(aera	gnacesâ	/Ellisnet/Laixa	=	Laixaââ	RA	â´â”â	Laixap	)pts(	erussserp	dna	erutarepet	drdnats	apm	=	2mm/n	a	laixa	=	p
laixa	â	Apg	=	2m/ng	ROF	Selas	ten	=	revort	=	revort	.tfahs	gnicute	wollo	wollo	diloh	dilo	fo	gnitsiw	ot	tspefer	â€â€â	Noisrot	0033	=	Php	ntâ€ã	2	055	=	php	ntâ€	ntâ	ã	2	=	mprp	ây	t	=	p	:tfahs	gnicute	a	Yb	dereviled	rewop	xâµãţž	Z’â’â	́â	̣=	X.	yrev	fo	swal	ruof	era	ereht	,scimanydomreht	nI	SCIMANYDOMREHT	Â±Ã	3	=	Â²Ã		;nevig	ton	si	Â²Ã		esac	nI
:etoN	erutarepmet	ni	egnahc	=	TÂ​Ã​	noisnapxe	emulov	fo	tneiciffeoc	=	Â²Ã​	emulov	lanigiro	=	V	emulov	ni	egnahc	=	Vâ”ãž	tâ”ãžâ21â2â2â1âòãžv	=	Vâ”ãž	Erutare	PMET	Egnahc	=	Tâ”ãž	The	asymptotically	is	approaching	absolute	zero	in	temperature	all	the	processes	practically	cease	and	the	entropy	of	the	system	approaches	asymptically	to	a
minimum	value.	T	=	Couple	n	=	revolutions/time	of	solid	helical	time	é®	=	Poisson	ã®â	report	=	0.25	to	0.3	per	steel	=	0.33	for	most	metals	=	0.20	for	cement	is	®â	TEMIN	=	0	ã®â	TEMAX	=	0.5	PRPM	=	FT	â	€	â	€	â	€	Â	SEC	FT	FT	ã	¢	Ö	†	'LB	MIN	16T	HELE	â	establish	3	â	€	â	€	Ž	=	16	PR	Fe	â	£	Â	«	d	hen	â	£	âa	1	+	hen	Â	£	â¬	ù	à	£	à	·	è	à	Âias	d
Ë	sad	'd	4)	ãsto	â	€	Ž	=	16	pra	heland	â	£	Â	«4m	ã	¢	ë	â	€	â	€	Â	1	0.615	is	âa	£	âal	+	ãho	HELE	â	£	Â¸	HELE	âvelop	3	ã	â	£	4M	ã	¢	ë	†	â	€	Â	4	ã	â	€	â	€	Ž	=	Abda	empty	is	ãhorte	Ž	=	rpm	â	€	â	€	Ž	=	cutting	stress	Torsonale	t	=	torque	exerted	by	the	tree	d	=	external	diameter	d	=	internal	diameter	where,	maximum	twisting	corner	of	the	fiber	tree:
lengthening,	ã®â¸	=	tl	jg	ã®	=	corner	deformation	(radiant)	t	=	couple	l	=	tree	length	g	=	rigiditã	j	=	polar	moment	of	inertia	of	the	cross	ue	ãied	4	j	=	32	m	=	dmean	rmean	=	d	r	64	pr	3	n	è®	=	gd	4	ã	â	€	Ž	=	cutting	stress	ãžâ´	=	elongation	r	=	medium	radius	d	=	diameter	of	the	thread	of	m	Olla	n	=	Number	of	Giri	g	=	rigidita	module	ã	¢	â	€	â	€	â
€	â	€	solid	fast	ãsto	âvelop	(d	4	ã	¢	Ö	†	â	€	™	d	4)	J	=	ã	¢	â	€	Â	€	™	empty	drops	32	Gsteell	=	83	GPA;	Esteel	=	200	GPA	PDF	Created	with	the	PDFactory	test	version	www.pdffactory.com	mode	of	interest	every	year-Needly	quarterly	trimesterly	semi-quarterce	semi-toner	of	daily	engineering	1	simple	interest	i	=	pin	f	=	p	(1	+	in)	P	=	Main	amount	F	=
Future	amount	I	=	total	interest	earned	i	=	interest	rate	n	=	number	of	periods	of	interest	m	1	2	4	8	12	24	6	360	shortcut	on	actual	ordinary	interest	rate	n	=	360	n	=	months	12	days	Exactly	of	simple	interest	is	â	€	â	€	'ordinary	year	365	days	n	=	ã	¢	â	€	â	€	â	€	â	€	jumping	year	366	n	=	income	known:	the	interest	must	be	an	effective	rate	composed
F	=	p	(1	+	i)	n)	nominal	interest	rate	i	=	nr	ã	¢	â	€	¡â	€	n	=	mn	m	rate	of	EFFECTIVE	ER	=	(1	+	I)	¢	Ã	¢	Ã	¢	1	+	¢	¢	ë	¢	¢	е	1	+	¢	†	™	¢	¢	е	a	[(1	+	i)	n	©	â)	n	¢	¢	ogle	™	1	1]	p	=	(1	+	not)	are	а	«e	É	Â	Â	Â	Â	Â	¢	Â	£	Â	¢	¢	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	а	аY	€	Ù	ã	¯	а	¸	â	â	£	â	£	K	Mc	â	€	¢	0C	=	md	1â	¢	¢	â	¢	¢	1	(0	ck	=	m	d	m)	k	â	¢	1	(0	c	=	m
c	m	m	â	€	¢	'¢	1	=	k	c	alumrof	nosehtam	n)	i	+	1	(i)	i	+	1	(n	+	=	p	c]	1	â	¢	¢	n)	i	+	1	([[rz	oc	nc	t	tni	tni	dpcp	=	ytiunap	=	P	sdnob	n	¢	¢	1	=	k)	MBD	(dohtem	ecnalab	gninilced	moc.yrotcaffdp.www	noisrev	lairt	yrotcaffdp	htiw	deta	fdp	m	réy	ta	noitaicerped	=	md	tigid	sneray	eht	fo	music	=	dys	md	â	€	â	€	¢	¢	¢	â	€	¢	0c	=	mc	2)	1	+	n	(n	=	dys	â	»Â	£	Ãḋ)
1	+	n	(n	°	â	€	â	€	â	£	£	Â	£	â	£	Ã	¢	C	(=	md	âââââ	£â	£â	£	ââ	£ˆ	â	¢	¢	n2	(â	®â	€	¢	£	£	â	â	€	¢	£	£	â	â	â	€	¢	£	£	â	â	€	¢	£	£	â	â	€	¢	£	£	â	â	€	¢	£	£	â	â	¢	;	¢	0	c	(=	m	d	âââ	£â	£â	€)	1	+	m	â	¢	¢	¢	n	(2	®	â	€	¢	Ã	¯	ã	£	â	€	¢	ã	£	£	â	â	€	¢	â	£	£	â	â	â	€	¢	â	£	â	â	â	€	¢	â	£	â	â	â	â	€	¢	â	£	â	â	â	€	¢	â	£	â	â	â	€	¢	â	£	â	â	â	€	¢	â	£	â	â	â	€	¢	â	£	â	â	â	€	¢	â	£	â	â	€	¢	â	£	â	â
â	€	¢	â	£	â	â	€	¢	â	£	â	â	€	¢	â	£	â	â	€	¢	â	£	â	â	€	¢	â	£	â	â	€	¢	â	£	â	â	€	¢	â	£	â	â	€	¢	)	i	+	1	(nc	=	q	q	+1	=	p	nc	i	â	€	¢	â	€	â	€	â	€	â	âˆ	¢	ââ	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	â	€	£	â	€	£	£	Ã	¯	£	£	£	â	€	¢	ââ	€	â	€	¢	=	F	âââââ	£â	£	ã	ã	â	€	â	€	â	€	â	€	â	i	'	£	Ã	£	â	£	Ã	£	£	£	£	£	£	â	£	â	£	â	£	â	¢	â	¢	â	¢	â	¢	¢	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢
q	+	1	(	Â	€	¢	0C	=	mc	i	=	md]	1	â	¢	¢	¢	m)	i	+	1	([d	1	â	¢	¢	n)	i	+	1	(i)	n	c	â	¢	¢	0	0	C	(=	d	tneidarg	cirtemoeg	mrofinu)	mfs	(dohtem	dnuf	gniknis	2i	g	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n
n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n	n.	£	Ã	£	â	€	â	¢	Â	£	â	£	Ã	¯	â	£	â	£	â	£	â	£	â	£	â	£â	£â	€	¢	£	Ã	¢	£	£	£	â	€	¢	£	Ã	¢	£	£	£	â	€	¢	£	Ã	¢	£	£	£	â	£â	€	¢	£	Ã	¢	£	£	£	â	€
¢	£	Ã	¢	£	£	£	â	€	¢	£	Ã	¢	£	£	£	â	£â	€	¢	£	Ã	¢	£	£	£	â	€	¢	£	Ã	¢	£	£	£	â	€	¢	£	Ã	¢	£	£	£	â	€	¢	£	Ã	¢	£	£	£	â	£â	€	¢	£	Ã	¢	â	€	¢	£â	£â	£â	£â	£â	£â	£â	£â	€	™	=	n	eulav	parcs	ro	egavlas	=	nc	eulav	koob	=	mc	tsoc	tsrif	=	0c	noitaicerped	launna	=	d	md	â	€	¢	0C	=	mc	â	»Â	£	Ã	¢	£	Ã	¢	ââ	¢	ââ	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	ââ	¢	â	¢	ââ	ââ	ââ	¢	â	€	â	€	g	dm	=	md
=	gf	â	»â	£	Ãrass)	i	+	1	(n)	I	+	1	(I	â	€	â	€	â	€	â	€	â	€	â	¢	ââ	€	âââ	€	âââ	£â	€	â	£â	£â	€	â	£â	€	¢	âââ	¯	â	¢	â	¢	â	¢	â	¢	â	¢	â	¢	¢	¢	n)	i	+	1	(®	®	£	í]	MLS	(Dohtem	Enil	Thgiarts	GP	+	AP	=	P	noiticerped	2	Scimonoce	Gnireenigne	Seires	Tneidarg	Mrofinu	/	Raenil	in	a	moc.yrotcaffdp.www	noisrev	lairt	yrotcaffdp	htiw	detaerc	fdp	=	p	ytiunna	lauteprep	Ro
ytiuteprep	ytiunna	ro	tnuoma	cidoirep	mrofinu	=	a	tseretni	under	evitceffe	evitceffe	=	re	sney	fp	rebmun	=	N	sdoirep	tseretni	under	rebmun	latot	=	n	Rey	Rep	Sdoirep	tseretni	sub	rebmun	=	m	tseretni	under	Etar	Lanimon	=	rn	Doirep	Rep	tseretni	under	etar	=	in	launna	fi	lauqe;	Â	€	â	¢	Ã	¢	ud	vd	xd	xd	xd	u	=	)vu(	v+	ud	vd	d	xd	xd	xd	=	)	v	+	u(	+	vd
ud	d	xd	0=	Cd	sevitavireD	sniahc	08	=	sgnolruf	8	=	elim	etutats	1	sdray	0671	=	teef	0825	=	elim	etutats	1	sretem	2581	=	teef	0806	=	elim	lacituan	1	elim	lacituan	1	=	cra	elcric	taerg	no	.otsuig	ocirefs	olognairt	nu	ni	ital	e	ilogna	art	inoizaler	el	ettut	etnemlicaf	eravort	rep	ocinomenm	otuia	nU	¨Ã	,repeN	id	onogatneP	o	repeN	id	olocriC	otamaihc	etlov
a	elcriC	reipaN	artsed	id	ilognairt	ia	enoizulos	c	+	°Â	081<	b	+	a	c	nis	b	nis	a	niS	=	=	c	nis	nis	A	nis	:seeniS	fo	waL	auqilbo	ilognairt	ia	enoizuloS	.esaf	aus	al	eraibmac	aznes	oproc	led	arutarepmet	al	eraibmac	rep	oirassecen	erolac	li	¨Ã	esaf	alla	elibisnes	erolac	led	enoizairav	e	enoizator	+	eraenil	acimret	aigrene	=	elatot	acitenic	aigrenE	EK	"®Ã	=
ovitagen	oroval	-	ovitisop	oroval	ek"	®Ã	=	otlovs	orovaL	.001	$	id	tegrat	oilgatted	la	ozzerp	la	eravirra	rep	44.	id	itsoc	ied	otnemelpmoc	li	rep	osivid	¨Ã	44	$	id	otsoc	lI	.aera'lled	ediortnec	lad	ottircsed	oihcrec	led	aznerefnocric	alla	e	aera'lled	ottodorp	la	elaugu	¨Ã	otareneg	emulov	lI	otta	atatour	¨Ã	anaip	aera'nu	es	:atsoporp	adnoces	:	ÃtisneD	r	¬​â
¯Ã2	¢Â	¬​â	¢Ã	sd«Â	​Ë¢Ã	=	a	sgc	2tf/fbl	54	=	retaw³Â®Ã	is	2m/nk	18,9	=	retaw³Â®Ã	r	¬​â	¯Ã2	¢Â	¬​â	¢Ã	S	=	A	osep	id	emuloV	.B	elaiznegnat	ssertS	.3	:itnatropmi	elogeR	moc.yrotcaffdp.www	yrotcaFDP	avorp	id	enoisrev	al	noc	otaerc	FDP	elaunna	enoiznetunam	e	ovitarepo	otsoc	=	CMO	esseretni	id	ossat	=	I	elaunna	otnematromma	id	otsoc	=	D
elaunna	otsoC	=	CA	CMO	+	)I(	0	C	+	D	=	CA	)I/A(	auteprep	enoiznetunam	alled	otsoC	=	P	otsoc	omirP	=	0C	otazzilatipac	otsoC	=	CC	P	+	0	C	=	CC	ilaunna	itsoc	e	ilatot	eseps	=	elatot	otidder	tnevE	emagel	led	oiggerap	led	isilana'lled	ozzerP	osrobmir	=	c	osrobmir	led	amirp	inna	id	oremun	=	n	dradnats	esseretni	id	ossat	=	i	ocidoirep	odnedivid	=	rz
odoirep	rep	enoizagilbbo'llus	esseretni	id	ossat	=	r	enoizagilbbo'lled	elanimon	erolav	o	irap	erolav	=	z	enoizagilbbo'lled	elautta	erolav	=	p	otnematromma	id	etnatsoc	ossat	ï	ï	̄	ï	̄£	̄£	ï	̄£	ï	̄£	̄£	ï	̄£	ï	̄£	̄£	̄£	ï	̄£	̄£	ï	̄£	ï	̄£	̄£	̄£	̄£	£	̄£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£
£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	£	Du	d	u	=	dx	dx	2	u	du	Ã¢Ë​â​​c	d	Ã¯	Â£	Â«cÃ¯	Â£	Â¶	dx	Ã¯	Â£	Â¬	Ã¯	Â£	Â·	=	2	dx	Ã¯	Â£	u	Ã¯	Â£	ner	u	d	u	du	(a)	=	a	u	ln	a	dx	dx	d	u	du	(e)	=	e	u	dx	dx	dog	log	a	e	d	dx	(ln	a	u)	=	dx	u	du	d	(ln	u)	=	dx	dx	u	d	du	(sin	u)	=	cos	u	dx	dx	d	du	(cos	u)	=	Ã¢Ë​	'sin	u	dx	dx	d	dx	d	Du	(tan	u)	=	sec	2	u	dx	dx	d	du	(cot	u)	=	Ã¢Ë​	â​​csc	2	u	dx
dx	d	du	(sec	u)	=	sec	u	tan	u	dx	dx	d	du	(csc	u)	=	Ã¢Ë​	Ã¢Ë​	csc	u	cot	u	dx	dx	d	du	1	(sin	Ã¢Ë​â​​1	u)	=	2	dx	1	Ã¢Ë​	â​​u	dx	pdf	creato	con	la	versione	di	prova	pdffactory	www.pdffactory.com	Ã¢Ë​â​​	1	du	d	(cos	Ã¢Ë​â​​1	u)	=	dx	1	Ã¢Ë​	â​​u	2	dx	d	1	du	(tan	Ã¢Ë​â​​1	u)	=	dx	1	+	u	2	dx	d	Ã¢Ë​â​​	1	du	(cot	Ã¢Ë​â​​1	u)	=	dx	1	+	u	2	dx	d	du	1	(sec	Ã¢Ë​â​​1	u)	=	2	dx	u	u	Ã¢Ë​	'1
dx	d	Ã¢Ë​	â​​1	du	(csc	Ã¢Ë​â​​1	u)	=	dx	u	u	2	Ã¢Ë​â​​	1	dx	du	d	(sinh	u)	=	cosh	u)	dx	dx	d	du	(cosh	u)	=	sinh	u	dx	dx	d	du	(tanh	u)	=	sec	h	2	u	dx	dx	d	du	(coth	u)	=	Ã¢Ë​	â​​csc	h	2	u	dx	dx	d	du	(sec	hu)	=	Ã¢	Ã¢	Ë​	â​​sec	hu	tanh	u	dx	dx	d	du	(csc	hu)	=	Ã¢Ë​â​​	csc	hu	coth	u	dx	dx	d	1	du	(sinh	Ã¢Ë​â​​1	u)	=	dx	u	2	+	1	dx	d	(cosh	Ã¢Ë​â​​1	u	)	=	dx	1	du	u	2	Ã¢Ë​	'1	dx	d	1	du
(tanh	Ã¢Ë​â​​1	u)	=	dx	1	Ã¢Ë​'	u	2	dx	d	Ã¢Ë​	â​​1	du	(sinh	Ã¢Ë​â​​1	u)	=	2	dx	u	Ã¢Ë​â​​	1	dx	d	Ã¢Ë​	â​​1	du	(sec	h	Ã¢Ë​â​​1u)	=	dx	u	1	Ã¢Ë​â​​	u	2	dx	d	Ã¢Ë​	â​​1	Du	(CSC	H	Ã¢Ë​â​​1u)	=	dx	u	1	+	u	2	dx	calcolo	differenziale	limita	forme	indeterminate	0,	0	Ã¢Ë​Å¾,	(0)	(Ã¢Ë​Å¾),	Ã¢Ë​Å¾	-	Ã¢Ë​Å¾	,	0	0,	Ã¢Ë​Å¾	0,	1Ã¢Ë​Å¾	Ã¢Ë​Å¾	l	regola	lim	xÃ¢	â​		â​​a	f	(x)	f	'(x)	f"	(x)	=	lim	=
lim	.....	Esempio:	il	costo	su	un	articolo	Ã¨	di	$	44.	Completamente	HDÃ¢	â​¬â​¦	"ne	ho	pubblicati	un	altro.	Cominciamo	a	vedere	una	guerra	di	classe	di	televisione	HD	-	con	la	folla	Full	HD	che	sorride	compiaciuta	al	povero	vecchio	HD	Ready?	sistemi	su	cui	non	si	conosce	altro	che	l'equilibrio	tra	energia	e	trasferimento	della	materia.	Somma	di	tutti	i
termini	Progressione	geometrica	(GP)	-	una	sequenza	di	numero	in	cui	i	loro	reciproci	formano	una	funzione	calu	:	Ã¢	â​¬	Å​Se	un	evento	puÃ²	verificarsi	in	modi	diversi,	e	dopo	che	si	Ã¨	verificato	in	uno	di	questi	modi,	un	secondo	It	can	occur	in	n	different	ways,	and	then	the	number	of	ways	in	which	the	two	events	can	occur	in	succession	is	mn
different	waysâ	€	permutation	of	the	permutation	of	n	objects	taken	at	a	time	npr	=	r	=	to	2	a3	=	a1	a2	n!	(n	â	Let's	r)!	Report	A	(R	n	â	Let's	Â–)	S	=	1	â	†	’R>	1	R	â–1	A1	(1	ârace’	R	N)	S	=	â	†	’R	1	npn	=	n!	Permutation	of	n	objects	with	q,	r,	s	etc	=	=	=	=	=	=	=	=	=	=	=	=	=	14.7	psi	1.032	kgf/cm2	780	Torrr	1.013	bar	1	atm	780	mmhg	29.92	in	p	pi	=
a	Thin-walled	pressure	vessels	pappliedl	ï	town	T	=	ï	town	=	ï	town	=	cutting	effort	p	=	applied	force	or	load	a	=	resistance	area	(Sheare)	A.	$	56	divided	from	$	100	=	56	%	(8)	Markdown	%	=	$	markdown	/	$	net	sales	example	:	$	20	Markdown	divided	from	$	80	net	sale	=	25%	expenses	of	retail	Markdown.	It	is	a	spherical	triangle	with	one	side	of
90	°.	The	theft,	of	course,	is	unknown	or	unregistered	loss,	or	narrowing.	TAN	-AD	2.	Cost	of	the	goods	sold	$	(1,550,000	-	$	900,000)	=	$	600,000.	Example:	Annual	Gross	Margin	$	of	$	400,000	with	an	average	inventory	cost	of	$	150,000	would	have	a	$	2.67	GMROI;	In	other	words,	for	each	dollar	invested	in	the	inventory	on	average,	the	$	1
invested	returned	$	2.67	most	of	the	retailers	are	in	the	range	of	two	to	four	laps	per	year.	$	1,000,000	-	$	900,000	=	$	100,000	increase.	There	is	certainly	a	need	for	a	"common	language"	for	industry	as	it	concerns	calculations	and	terms!	But,	the	following	list	of	15	different	formulas	and	explanations	of	retail	mathematics	is	the	most	common.	New
lower	price	$	80.	Over	the	past	17	years,	he	has	managed	The	Hallman	Company,	a	retail	consultancy	agency	based	in	Atlanta,	Georgia.	This	20	%	discount	becomes	a	25	%	Markdown	expenditure	because	$	20	must	be	divided	by	$	80	sale	to	be	expressed	in	%	to	sales,	the	way	other	expenses	are	expressed	in	%	to	sales.	Due	to	your	own	mass	ï	gl2
mgl	î´	=	2e	2	ae	î´	=	ï	=	density	or	unitary	mass	of	the	body	g	=	assam	assam	=	m	gnuoY	id	oludom	o		Ãticitsale	id	oludom	=	E	elanigiro	azzehgnul	=	L	elanoizativarg	erugif	rep	aizreni	id	otnemoM	elacitrev	anaip	aerA	=	a	)³Â®Ã(	odiuqil	led	ocificeps	osep	=	w	odiuqil	led	eicifrepus	allus	.G.C	led	aznatsid	=	h	aera'lled	otal	nu	us	odiulf	lad	ataticrese
azrof	=	f	2	da	=	oxi	=	x	I	.etnardauq	ossets	olled	onos	otsoppo	otal	li	e	ouqilbo	ologna	e	ortsed	ocirefs	olognairt	nu	nI	.%1,11'lled	otnemua	=	000.009	$	id	odoirep	omitlu'lled	etidnev	el	rep	osivid	000.001	$	id	otnemuA	."atuicsonocs"	atidrep	anu	¨Ã	atseuQ	.6	°Â	045<	C	+	B	+	A<	°Â	081	.d	moc.yrotcaffdp.www	yrotcaffdp	avorp	id	enoisrev	noc	ataerc
elaizini	arutarepmet	id	fdp	=	it	elanif	arutarepmet	=	ft	elanigiro	azzehgnul	=	l	oproc	led	eraenil	enoisnapse	id	etneiciffeoc	=	±Â	®Ã	otnemagnulla	=	´Â®Ã	)it​​â	​Ë¢Ã	f	t(	±Â	®Ãl	=	´Â®Ã	arutarepmet	id	itnemaibmac	id	asuac	A	.avruc	alled	airtemmis	alled	essa'llus	otangesid	odrocca	nU	)RL(	mutcer	sutal	)k​​â	¬​â	¢Ã	y(	a4	​​â¬​â	¢Ã	=	2	)H​​â	¬​â	¢Ã	x(	:ossab
li	osrev	arutrepA'	​Ë¢Ã	=	H	)K	​​â¬​â	¢Ã	y(	A4	=	2	)H​​â	¬​â	¢Ã	x(	:otla'l	osrev	arutrepA	0	=	f	+	ye	+	xd	+	2yc	+	2xa	:essille'nu	id	elareneg	enoizauqE	)H	​​â¬​â	¢Ã	x(	a4​​â	¬​â	¢Ã	=	2	)k	​​â¬​â	¢Ã	y(	:artsinis	a	arutrepA	)H​​â	¬​â	¢Ã	x(	a4	=	)k	"¬​â	¢Ã	y(	a	b	2	2	1	=	+	2	)k'	​Ë¢Ã	y(	2	)h​​â	​Ë¢Ã	x(	2	:elacitrev	¨Ã	eroiggam	essa'l	:artsed	a	arutrepa	:dradnats	inoizauqE	2B
2A	1	=	+	2	)k'	​Ë¢Ã	y(	2	)h​​â	​Ë¢Ã	x(	:elatnozziro	¨Ã	eroiggam	essa'l	:dradnats	inoizauqe	a	=	rl	e	:otter	sutal	led	azzehgnul	K	rep	erevlosir	rep	H	xirtceriD	id	otutitsos	la	ortnec	led	aznatsiD	=	D	.DH	¨Ã	i0801	-	atlov	amissorp	al	eragofs	id	amirp	acrecir	ehclauq	iaF	.²Ãic	us	ametsis	lad	otlovs	oroval	id	amrof	ottos	asrep		Ãtitnauq	al	onem	,otnemadlacsir	lad
ametsis	la	atnuigga	aigrene	id		Ãtitnauq	alla	elaugu	¨Ã	osuihc	ametsis	nu	id	aigrene'lled	otnemua'L	aigrene'lled	enoizavresnoc	allus	acimanidomret	alled	eggel	amirP	.000.009	$	=	odoirep	omitlu'lled	etidneV	.onna	ingo	oiratnevni'llen	oidem	otnemitsevni	out	li	idnev	iuc	ni	etlov	id	oremun	li	¨Ã	otaruttaf	lI	."oiratnevni'lled	otaruttaF"	)41(	.esem	led
oizini'lled	oiratnevnI	=	M.O.B	:atoN	.c	oproc	li	21	21	=	xi	3	hb	olognairt	sgc	2tf/fbl	54	=	retaw³Â​Ã	is	2m/nk	18,9	=	retaw³Â®Ã	21	hb	3	=	ox	i	3	=	xi	3hb	=	³Â®Ã	otardauq	:ocificeps	oseP	inumoc	â€â€â	P	â¸ãžsoc	q	p	=	q	â€â€TMs	noitAvele	tcudorp	ralacs	ro	Tod	srotev	.snwodkram	Fo	;Lauqe	Era	Eticopo	sedis	eht	,Lauqe	Era	Elgnairt	Lacirehps	A	FO
Selgna	Owt	F	.ppo	A	FO	NGIS	EMAS	C	â¢'â’â'â	̣=	K	;	e	d	0	>	ca4	-	2b	alobrepyh	espelle	alobarap	elcrr	c	â′‰â	,0	<	ca4	-	2b	espelle	0	=	ca4	-	2b	alobarap	C	-	2b	0noitauqe	,	llo	fo	mos	âžâ	́â	̣¢	=	n	&1	<	r	â†â’â’â	â	́â	́â1	=	uoy	rof	dedivorp	,gninnalp	yrotnevnire	repop	!gniyub_revo	snwodkram	evsexe	FO	Esuac	1	rebunum	.b	niaarts	âJãž	sserts	´ãž	lp	uterts
because	sserts	eht	â€â€TOâ€TROP	Erutcarf/htgnerts	erutpur	eht	Ehshih	Ehsah	Eht	Sâ€â€âtum	;	Suounitnoc	dna	slairetam	elitcud	;yaercni	gnidnopserroc	y	tuohtam	eht	fo	gnidleiy	ro	noitagnole	elbaicerppa	is	ereht	tniop	sih	because	â€â	tnoruy	nniofed	ninofed.	nruter	ton	liw	lairetam	eht	hcihw	dnoyeb	eht	â€â€TMs	Citsasal	â€TO	l	â€TREE	â€	1	Vâµãž
ve=	V	,	v	ve=	V	́	reahs	Suludom	s	âµãžs	e=	s	â	somesale	fo	suludom	âµãže	=	âג	âµí	jumpa	=jumpon	stoy	žâ£ãžeaseâ€TM	â€TROODS	ot	lanoitroporp	si	ssertsâœâ€TMs	noitamrofed	laixa	no	walk	sâ€â€â€â's	comed	comedoh	eud	htbach	ehts	ehtnoh	ehts	ehts	ehts	ehts	ehts	ehts	ehts	ehts	eude	htirkooh	eude	ud	sids	.	Elbac	Eht	Fo	Eht	Selbarap	Selbac
selbac	1	Sciinahem	Moc.yrotcaffdp.www	Noisrev	Lairt	Yrotcaffdp	Htiw	Detaerc	Fdp	61	=	xi	4	rmish	rmla	sric-retrauq	emulov	thgiew	ox	I	elcrr	63	3HB	=	Ox	ox	Hgih	lluf	era	htob	â€â€â	P027	ro	i0801	noitacepances	verht	,dias	taht"sraw	yllet.rotattnemmoc	eno	detsop"	.shtnom	21	tsael	ta	rof	eb	dluohs	"doirep"	ehT	.sreliater	ytlaiceps	ssalc-fo-tseb	ot
secivres	ssalc-fo-tseb	gnignirb	ni	sezilaiceps	ynapmoC	namllaH	ehT	.)000,001$	yb	dedivid	000,004$(	."DH	etiuq	ton"	si	rehtieN	.senil	eewteb	ecnatsid	eht	fo	erauqs	eht	semit	aera	eht	sulp	nil	ladunnec	lellarap	eht	tcepser	htiea	eht	FO	aitreni	thamom	eht	slauq	f	ad	HW	â«â	́â	̣¢	=	f	meroeht	sixllap	erusserp	diulf	AD	2	x	â«â	̣¢	=	y	i	2y	4	4	4	4	4	4	4	4	=€â€
4	-y	3baâ€	Tuoba	Aitreni	Fo	Tnemom	1x	2	AD	â«â	́ã¢	2x	=	XI	:sixa	-x	eht	tuoba	aitreni	fotreni	fo	tnemom	moc.yrotcaffdp.	)ecnatsbus(	=	sâ	ã	sgc	3tf/bl	4.26	=	retubâ	â	â	â	3m/GK	0001	=	retubâ	â	â	â€â	2	â€â€â't	â€â).	=	V	â€â€â€â€â	â€TMs	=	V	.Ehbac	Eht	Fo	htgnel	eritne	eht	eht	ilbac	eht	fo	daol	eht	2	Sciinahranetac	moc.	=	Naps	Fo	htgnel	tinu	rep
daol	=	w	Elbac	Fo	TNIOP	TNIOP	TNIOP	TNIOP	TNIOP	TNIOP	=	troppus	ta	elbac	Fo	noisnet	=	t	Elbac	Fo	gas	=	D	elbac	Fo	naps	=	l	3L	5	l3	âˆâ	́	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	s	m	s	m	s	m	ket	.	2	D8	øâ£°	âââ°	â£°	H+	â·tâ£°	â¬â£¯	=t	2	â¢¢¢¢¢¢¢¢¢¢¢«â«â	>H	2l	L	stroppus	fo	noitave	neve	2	H	+	2	)	2xw	(	=	=	=t	2	h	+	2	)	1xw	(	=
=	1t	â	̘ãž=â†	,thgiew	eht	rof	Tpecxe	Deilppa	â₣	â1⁄4	‘âˆ	́â	fâ‘â	́‘â	̣ã¢	:Muirbiliuqe	ot	ot	ot	snoitidnoc	metsys	ecrof	ranalpoc	fo	kuirbiliuqe	zq	yp	xq	xp	=	qj.	Ro	ssorc	2	D2	1D2	2	2	=	X	=	X	w	xw	2	2	z	qp	qp	+	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	q	Q	FOR	DEFINITION.	u>	a	âgest	«u	2	2	âgest«	UDV	=	UV	â–	âgest	«VDU	2	PDF	Created	with	trial	version
Pdffactory	www.pdffactory.com	I	centerid	of	areas	areas	of	aerodynamics	delimited	by	a	curve	and	by	the	axes	of	Coordinates:	half	parabola	A	=	x2	Â2	"y	(curve)	DX	X1	Y2	A	=	ârace«	X	(Curva)	Dy	Y1	areas	of	aerodynamics	delimited	by	a	curve	and	by	the	axes	of	coordinates:	x2	a	=	ârange	«(y	(y	(y	(y	(y	(y	(y	(y	(y	(	Up)	â–	Y	(Down)))	DX	X1	3	x	=	B	8	2
Y	=	H	5	Parabola	2	Y	=	H	5	Triangle	Y2	A	=	ârace	"(x	(right)	â	x	(left)	)	Y1	î¸	1	2	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	‡	ï	ï	ï	‡	ï	ï	ï	ï	ï	utter	‡	‡.	Ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	‡	‡	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	utter	‡	ï	ï	utter.	Ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	‡	‡	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	utter	‡	ï	ï
utter.	Ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	‡	‡	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	utter	‡	ï	ï	utter.	Ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	ï	‡	ï	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	‡	‡	ï	ï	‡	ï	ï	ï	ï	ï	ï	ï	ï	utter	‡	ï	ï	utter.	Ï	cher	ï	ï	£	¸	ï	ï	ï	dz	ï	ï	£	¸	integral	Calculus	2	centerids	of	volumes	x2	v	â	€	¢	x	=	âgest	«dv	â	€	¢	x1	y2	tip	1:	usually	the	problems	will	be	of	this	nature:
â	€	¢	â	€	â	€	œFind	the	Bounded	area	byâ	€	â	€	â	€	â	€	œFind	the	Area	Revolved	Around..â	€	V	â	€	œ	Y	=	â	We	"DV	â	€	¢	Y	Tip	2:	integrate	only	when	the	form	is	°	Irguular,	otherwise	use	the	prescribed	formulas	Working	work	integration	=	force	ã	-	distance	y1	volume	of	solids	from	revolution	x2	y2	x1	y1	w	=	ârange	«fdx	=	âgest«	fdy;	where	f	=	k	x
circular	disk	method	x2	v	=	ï	€	Â	Â	2	dx	work	done	on	the	spring	of	cylindrical	shell	method	k	=	constant	of	the	spring	x1	=	initial	value	of	lengthening	x2	=	final	lengthening	value	1	2	2	2	W	=	K	(x2	â–	x1)	2	x1	Y2	V	=	2ï	€	âgest	«RL	DY	Y1	Work	done	in	the	pumping	of	the	liquid	outside	the	container	in	its	upper	part	Circular	Ring	Method	X2	V	=	ï	€
â–	R)	DX	2	WORK	=	(densit)	(volume)	(distance)	2	x1	force	=	(density)	(volume)	=	ï	V	Propositions	of	Pappus	specific	weight:	first	proposition:	YAW-IUS	ETNEMACNAB	dradnats	elanoizativarg	enoizarelecca	=	g	atepirtnec	enoizarelecca	=	ca	aiccart	id	oiggar	=	r	osep	=	W	assam	=	m		Ãticolev	=	V	agufirtnec	azrof	=	cF	r	=	ca	2V	rg	r	=	=	cF	2	VW	2
Vm	.otuicsonoc	¨Ã	otaredised	%	pukram	li	e	otsoc	li	odnauq	,otnemele	nu	erangessartnoc	rep	oilgatted	la	ozzerp	li	eranimreted	rep	atazzilitu	eneiv	oilgatted	la	acitametam	id	alumrof	atseuQ	:atoN	)%	pukram	-	%001(	/	otsoC	$	=	liateR	$	)3(	.xirtcerid	atamaihc	assif	aenil	anu	e	sucof	otamaihc	ossif	otnup	nu	ad	itnatsidiuqe	erpmes	ais	ehc	odom	ni



evoum	is	ehc	otnemivom	id	otnup	nu	id	sucol	nu	ALOBARAP	2	A	=	r	o	F4	​​â	2	E	+	2D	1	F	0	=	C	o	A	B	id	.otnemignirtser	non	,atuicsonoc	atidrep	anu	¨Ã	,otartsiger	¨Ã	es	am	,atidrep	anu	¨Ã	nwodkram	nU	.2	.ologna	ozret	li	¹Ãip	°Â081	a	eroirefni	¨Ã	ocirefs	olognairt	nu	id	ilogna	eud	id	ammos	aL	.ossets	ol	ivrid	etnemlibaborp	²Ãup	onu	edeissop	ehc	ortla
euqnuihc	e	otsiv	iam	aibba	ehc	p027	DCL	omrehcs	ingo	isauq	a	ottepsir	VTDH	TRC	i0801	oim	li	omA	.RORRE	EVITALER	li	otamaihc	¨Ã	​​âx/xd​​â	arolla	,x		Ãtitnauq	anu	id	arusim	allen	erorre​​âl	¨Ã	​​âxd​​â	eS	IRORRE	E	ENOIZAMIXORPPA	enoizunimid	id	ossat	=	etnecserc	ossat	=	td	​​â	xd	td	xd	+	opmet	la	ottepsir	elibairav	alled	otnemaibmac	id	ossat	li	ETAR
EMIT	moc.yrotcaffdp.www	yrotcaFfdp	avorp	id	enoisrev	noc	otaerc	FDP	n	xd	)	+	(	=	)	(	e	n	x	ex	X	n	nd	n	ex	ad	otavired	htn	xd	n	=	nx	id	otavired	htn	SEVITAVIREHGIH	-	otnemaibmac	nusseN	-	NOITCELFNI	pu	cni	)+(	0	NIM	nwod	ytivacnoC	ced	)-(	​​âY	0	XAM	​​âY	)tp(	epolS	AMINIM	E	AMIXAM	2	&	1	etnup	eraf	iop	SNAIDAR	ni	otitrevnoc
,ocirtemonogirT	es	:3	PIT	999999	=	x	otutitsos	,	​​â	​​â	x	es	:2	9999.0	=	itsos	,1	​​â	x	es	:1	PIT	ecirtaloclac	allen	ossergni	id	enoizauqE	eiotaicrocS	)x	(	"g	a	​​â	x	'g	a	​​â	x	)x	(	'	g	a	​​â	x	)x	(	g	.ocra'lled	ediortnec	lad	ottircsed	oihcrec	led	aznerefnocric	al	e	ocra'lled	azzehgnul	alled	ottodorp	la	elaugu	¨Ã	atareneg	eicifrepus	alled	aera'l	,ocra'l	odnasrevartta	non
eranalpoc	essa	=	³Î	nu	acric	otatour	¨Ã	oerea	ocra	nu	Bouyancy	a	submerged	body	in	is	subjected	by	an	unbalanced	force	called	buoyant	force	equal	to	the	weight	of	the	displaced	fluid	Fb	=	W	Fb	=	​Ã³ÂVd	Fb	=	buoyant	force	W	=	weight	of	body	or	fluid	​Ã³Â	=	specific	weight	of	fluid	Vd	=	volume	displaced	of	fluid	or	volume	of	submerged	body	Specific
Weight:	​Ã³Â	=	Weight	Volume	​Ã³Âwater	=	9.81	kN/m2	SI	​Ã³Âwater	=	45	lbf/ft2	cgs	Ideal	Banking:	The	road	is	frictionless	V2	tan	​Ã¸Â	=	gr	Non-ideal	Banking:	With	Friction	on	the	road	V2	tan(​Ã¸Â	+	​Ã​Â	)	=	tan	​Ã​Â	=	​ÃµÂ	;	gr	V	=	velocity	r	=	radius	of	track	g	=	standard	gravitational	acceleration	​Ã¸Â	=	angle	of	banking	of	the	road	​Ã​Â	=	angle	of
friction	​Ã¼Â	=	coefficient	of	friction	Conical	Pendulum	T	=	W	sec​Ã¸Â	1	2​Ã​Â	g	h	IMPULSE	AND	MOMENTUM	Impulse	=	Change	in	Momentum	F¢Ã​Â​Ât	=	mV	¢Ã​Â​Â	mV0	F	=	force	t	=	time	of	contact	between	the	body	and	the	force	m	=	mass	of	the	body	V0	=	initial	velocity	V	=	final	velocity	Impulse,	I	F	V2	tan	​Ã¸Â	=	=	W	gr	f	=	ENGINEERING
MECHANICS	3	Momentum,	P	frequency	PDF	created	with	pdfFactory	trial	version	www.pdffactory.com	I	=	F¢Ã​Â​Ât	P	=	mV	Work,	Energy	and	Power	LAW	OF	CONSERVATION	OF	MOMENTUM	¢Ã​Â​ÂIn	every	process	where	the	velocity	is	changed,	the	momentum	lost	by	one	body	or	set	of	bodies	is	equal	to	the	momentum	gain	by	another	body	or	set
of	bodies¢Ã​Â​Â	Work	W	=	F	¢Ã​Â​ÂS	Force	Newton	(N)	Dyne	Pound	(lbf)	Distance	Meter	Centimeter	Foot	Work	Joule	ft-lbf	erg	Potential	Energy	PE	=	mgh	=	Wh	Momentum	lost	=	Momentum	gained	Kinetic	Energy	KE	linear	=	m1V1	+	m2V2	=	m1V1'	+	m2V2'	m1	=	mass	of	the	first	body	m2	=	mass	of	the	second	body	V1	=	velocity	of	mass	1	before	the
impact	V2	=	velocity	of	mass	2	before	the	impact	V1¢Ã​Â​Â	=	velocity	of	mass	1	after	the	impact	V2¢Ã​Â​Â	=	velocity	of	mass	2	after	the	impact	KE	rotational	=	1	mV	2	2	1	2	I​Ã​Â	¢Ã​Â​Â	V	=	r​Ã​Â	2	I	=	mass	moment	of	inertia	​Ã​Â	=	angular	velocity	Coefficient	of	Restitution	(e)	e=	Type	of	collision	ELASTIC	INELASTIC	PERFECTLY	INELASTIC	Mass
moment	of	inertia	of	rotational	INERTIA	for	common	geometric	V	¢Ã​Â​ÂV	V1	¢Ã​Â​Â	V2	'	2	e	100%	conserved	Not	100%	conserved	Max	Kinetic	Energy	Lost	'	1	Solid	sphere:	I	=	2	2	mr	5	Kinetic	Energy	0	<	e	>1	Thin-walled	hollow	sphere:	e=0	e	=1	Solid	disk:	I=	1	2	mr	2	I=	m	=	mass	of	the	body	r	=	radius	e=	hr	hd	2	2	mr	3	1	2	mr	2	1	2	2	Hollow
Cylinder:	I	=	m(	router	¢Ã​Â​Â	rinner	)	2	Solid	Cylinder:	Special	Cases	I=	e	=	cot	​Ã¸Â	tan	​Ã²Â	PDF	created	with	pdfFactory	trial	version	www.pdffactory.com	Latent	Heat	is	the	heat	needed	by	the	body	to	change	POWER	its	phase	without	changing	its	temperature.	(9)	Markup	=	The	difference	between	the	cost	of	an	item	and	its	selling	price.	3.	The
markdown	is	$20.	RADIUS	OF	CURVATURE	3	[1	+	(	y	'	)	2	]	2	R=	y"	INTEGRAL	CALCULUS	1	¢Ã​Â«Â	du	=	u	+	C	¢Ã​Â«Â	adu	=	au	+	C	¢Ã​Â«Â	[	f	(u)	+	g	(u	)]du	=	¢Ã​Â«Â	f	(u	)du	+	¢Ã​Â«Â	g	(u)du	u	n+1	¢Ã​Â«Â	u	du	=	n	+	1	+	C..............(n	¢Ã​Â	Â	1)	du	¢Ã​Â«Â	u	=	ln	u	+	C	au	u	a	du	=	+C	¢Ã​Â«Â	ln	a	n	¢Ã​Â«Â	e	du	=	e	+	C	¢Ã​Â«Â	sin	udu	=	¢Ã​Â​Â	cos	u	+
C	¢Ã​Â«Â	cos	udu	=	sin	u	+	C	¢Ã​Â«Â	sec	udu	=	tan	u	+	C	¢Ã​Â«Â	csc	udu	=	¢Ã​Â​Â	cot	u	+	C	¢Ã​Â«Â	sec	u	tan	udu	=	sec	u	+	C	¢Ã​Â«Â	csc	u	cot	udu	=	¢Ã​Â​Â	csc	u	+	C	u	u	2	¢Ã​Â«Â	tan	udu	=	ln	sec	u	+	C	¢Ã​Â«Â	cot	udu	=	ln	sin	u	+	C	¢Ã​Â«Â	sec	udu	=	ln	sec	u	+	tan	u	+	C	¢Ã​Â«Â	csc	udu	=	ln	csc	u	¢Ã​Â​Â	cot	u	+	C	du	¢Ã​Â«Â	=	sin	¢Ã​Â​Â1	u	+C	a	a2	¢Ã​Â​Â
u2	1	du	¢Ã​Â​Â1	u	¢Ã​Â«Â	a	2	+	u	2	=	a	tan	a	+	C	1	du	¢Ã​Â​Â1	u	¢Ã​Â«Â	u	u	2	¢Ã​Â​Â	a	2	=	a	sec	a	+	C	¢Ã​Â«Â	¯Ã£Â«Â	u¯Ã£Â¶Â	=	cos	¢Ã​Â​Â1	¯Ã£Â¬Â1	¢Ã​Â​Â	¯Ã£Â·Â	+	C	¯Ã£Â​Â	a¯Ã£Â¸Â	2au	¢Ã​Â​Â	u	du	2	¢Ã​Â«Â	sinh	udu	=	cosh	u	+	C	¢Ã​Â«Â	cosh	udu	=	sinh	u	+	C	¢Ã​Â«Â	sec	h	udu	=	tanh	u	+	C	¢Ã​Â«Â	csc	h	udu	=	¢Ã​Â​Â	coth	u	+	C	¢Ã​Â«Â	sec	hu	tanh	udu
=	¢Ã​Â​Â	sec	hu	+	C	¢Ã​Â«Â	csc	hu	coth	udu	=	¢Ã​Â​Â	csc	hu	+	C	¢Ã​Â«Â	tanh	udu	=	ln	cosh	u	+	C	¢Ã​Â«Â	coth	udu	=	ln	sinh	u	+	C	2	2	¢Ã​Â«Â	¢Ã​Â«Â	du	u	+a	du	2	u	¢Ã​Â​Âa	du	2	2	2	=	sinh	¢Ã​Â​Â1	u	+C	a	=	cosh	¢Ã​Â​Â1	u	+C	a	1	a	=	¢Ã​Â​Â	sinh	¢Ã​Â​Â1	+	C	a	u	u	+a	du	1	¢Ã​Â​Â1	u	¢Ã​Â«Â	a	2	¢Ã​Â​Â	u	2	=	a	tanh	a	+	C..............	u	<	a	du	1	¢Ã​Â​Â1	u	¢Ã​Â«Â	a	2
¢Ã​Â​Â	u	2	=	a	coth	a	+	C..............	The	sine	of	any	middle	part	is	equal	to	the	product	of	the	tangent	of	the	adjacent	parts.	objects	alike	alike	P=	Sum	of	ALL	terms,	r	<	1	n!	q!r!s!...	a	b	KEY	FORMULAS	FOR	HYPERBOLA	Length	of	transverse	axis:	2a	Length	of	conjugate	axis:	2b	Distance	of	focus	to	center:	c	=	a	2	+	b2	d	=	distance	from	center	to
directrix	a	=	distance	from	center	to	vertex	c	=	distance	from	center	to	focus	Length	of	latus	rectum:	2b	2	LR	=	a	STANDARD	EQUATIONS	Transverse	axis	is	horizontal	(	x	¢Ã​Â​Â	h)	(y	¢Ã​Â​Â	k)	¢Ã​Â​Â	=1	a2	b2	2	2	Eccentricity:	e=	c	a	=	a	d	Transverse	axis	is	vertical:	(	y	¢Ã​Â​Â	k	)	2	(	x	¢Ã​Â​Â	h)	2	=1	¢Ã​Â​Â	a2	b2	POLAR	COORDINATES	SYSTEM	x	=	r	cos
​Ã¸Â	GENERAL	EQUATION	Ax2	¢Ã​Â​Â	Cy2	+	Dx	+	Ey	+	F	=	0	Coordinates	of	the	center:	h=¢Ã​Â​Â	D	E	;	k	=¢Ã​Â​Â	2A	2C	If	C	is	negative,	then:	a2	=	C,	b2	=	A	If	A	is	negative,	then:	a2	=	A,	b2	=	C	PDF	created	with	pdfFactory	trial	version	www.pdffactory.com	y	=	r	sin	​Ã¸Â	r=	x2	+	y2	tan	​Ã¸Â	=	y	x	SPHERICAL	TRIGONOMETRY	Napier¢Ã​Â​Âs	Rules	1.
1.	(11)Planned	Stock	=	planned	monthly	sales	x	stock	sales	ratio.	If	an	item	is	broken	or	otherwise	damaged	in	stock	and	disposed	of,	and	no	markdown	is	recorded,	it	becomes	an	"unknown"	loss,	and	is	reflected	as	a	mysterious	"shrinkage"	in	the	inventory.	Real	HD.	There	is	dispute	among	segments	of	the	retail	industry	as	to	the	retail	math
terminology	and	calculations	used	in	the	business.	It	is	the	"language"	used	by	The	Hallman	Company	in	working	with	our	clients	in	formulating	and	guiding	them	in	implementing	their	retail	business	plans:	Here	are	the	"top	15"	retail	math	formulas:	(1)​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	$	Cost	=	$	Retail	x	(100%	-	Markup	%)	Example:	$100	retail	item	with
56%	markup	has	a	cost	of	$44	(100%	-	56%	=	44%)	$100	retail	X	.44	=	$44.	Purchases	@	cost	+	freight	During	year	=	$550,000.	Inventory	On	Hand	end	of	year	@	cost	=	$900,000.	(15)	Breakeven	=	Fixed	Costs	$	/	(Net	Sales	-	Contribution	Margin	%)	Note:	The	Contribution	Margin	%	(CM)	is	the	sum	of	the	Variable	Expense	%	+	Cost	of	Goods	Sold
%	after	the	impact	of	markdowns.	It's	a	question	that	is	causing	Discussion	after	a	controversial	Sony	blog	spoke	of	1080i	support	for	"almost	HD"	sets.	Currently,	to	qualify	as	HD	in	the	United	Kingdom,	the	sets	must	be	720p	or	1080i,	with	the	so	-called	Full	HD	or	True	HD	sets	with	1080p.hd	Burnouto	when	Burnout	Paradise	Designer	Simon	Phipps
wrote	on	the	Sony	blog:	"Plus	of	the	piles	of	Piu	,	including:	1080i	support	for	PlayStation	3	owners	with	"almost	HD"	set	",	has	unleashed	something	of	a	reaction.	"I	really	appreciate	the	1080i	support,	but	by	calling	1080i	TVS	1080i"	almost	HD	"is	a	real	stupid	move,	only	because	you	don't	like	it	does	not	make	it	a	real	HD	resistance.	If	two
thermodynamic	systems	are	in	thermal	balance	with	a	third,	they	are	Also	in	thermal	balance	between	them.	Hallman	recently	launched	an	online	retail	shop	to	read	other	articles	on	textiles,	industry,	technical	textiles,	dyes	and	chemicals,	machinery,	fashion,	clothing,	technology,	Vetta,	skin	and	jewels	is	software	and	general	visit	http:	//artics.fibre2f
Ashion.com	to	Promotte	Your	Company,	Product	and	Services	Via	Promotional	Articles,	Follow	This	Link:	-Writing-Service/Content-Promotion-Services.asp	1080p	and	1080i-One	letter,	great	topic	when	HD	is	not	HD?	Energy	use	rate	P	=	W	=	F	ã	â	€	œ	V	T	1	Watt	=	1	Newton-M/s	1	Joule/sec	=	107	ergs/sec	1	hp	=	550	lb-ft	per	second	=	33000	lb-f	t
for	min	=	746	watt	law	on	the	conservation	of	energy	is	âvelop	"energy	cannot	be	created	nor	destroyed,	but	it	can	be	changed	from	one	form	to	another	âvelop	=	â	±	ml	q	=	necessary	heat	To	change	the	phase	m	=	mass	l	=	latent	heat	(melting/vaporization)	(+)	=	the	heat	is	entering	(the	substance	melts)	(ã	¢	â‚¬	")	=	the	heat	is	leaving	(freezing	of
the	substance)	latent	heat	Fusion	-	Solid	with	liquid	liquid	latent	vaporization	-	liquid	for	gas	values	latent	heat	Fusion	and	vaporization,	kinetic	energy	=	energy	report	work	potential	energy	Net	work	on	an	object	always	producesin	kinetic	energy	of	the	object.	Services	include	inventory	planning	with	pre-calculated	open	to	purchase,	and	team
management	training.	Breakdown	analysis:	Simply	indicated,	this	formula	indicates	how	much	sales	volume	should	be	made	to	cover	all	costs	(fixed	and	variable),	and	start	generating	a	profit.	Use	this	retail	mathematical	formula	in	cost	negotiations	with	suppliers.	When	the	hypotenuse	of	a	right	spherical	triangle	is	greater	than	90°,	one	leg	is	of	the
first	dial	and	the	other	of	the	second	and	vice	versa.	(2)	Cost	of	goods	sold	(COGS)	=	Inventory	+	purchases	-	Final	inventory	Here	is	another	way	to	indicate	the	same	formula:	inventory	at	the	beginning	of	the	year	+	purchases	or	additions	during	the	year	=	goods	available	for	sale	-	inventory	at	the	end	of	the	year	=	cost	of	the	sold	goods	Example:
Inventory	@	cost	Start	of	the	year	=	$1,000,000.	This	law	is	more	clearly	referred	to	as:	"the	entropy	of	a	perfectly	crystalline	body	at	absolute	zero	temperature	is	zero."	PDF	created	with	trial	version	pdfFactory	www.pdffactory.com	STRENGTH	of	MATERIALS	SI	N/m2	=	Pa	SIMPLE	STRESS	Stress	=	Units	of	σ	Force	Area	mks/cgs	English	Kg/cm2
lbf	/m2	=	psi	kN/m2	=	kPa	103	psi	=	ksi	Axial	Stress	MN/m2	=	MPa	103	lbf	But	we	don't	just	have	to	increase	turnover,	we	have	to	protect	the	markup	at	the	same	time.	For	more	information	about	having	your	inventory	plans	with	Open	to	buy	customized-prepared	for	your	retail	trade,	send	the	contact	form	from	this	site.	♪	4th	Coordinates	of	the
Centre:	D	E	;k	=	−	2A	2C	If	A	>	C,	then:	a2	=	A;	b2	=	C	If	A	<	C,	then:	a2	=	C;	b2	=	A	KEY	FORMULAS	PERfor	a	parable	Length	of	the	main	axis:	2nd	Eccentricity	(e)	the	distance	of	the	point	of	displacement	from	the	fire	(fixedat	its	distance	from	the	direct	(fixed	line).	ARITHMETIC	PROGRESSION	(AP)	-	the	difference	of	2	no.	is	constant	calculation
function:	LINEAR	(LIN)	to	n	=	m	+	(n	−	m)	d	nth	term	d	=	a2	−	a1	=	a3	−	a2	,...etc	S=	n	(a1	+	a)	2	S=	n	[2	a1	+	(n	−	d	1)	d	]	2	Common	difference	OF	ALL	RATIO	terms	of	each	2	adj,	the	terms	are	always	constant	Calcu:	EXP	EQUATION	If	the	number	of	equations	is	lower	than	the	number	of	strangers,	the	equations	are	called	“Godphantine
equations”.	Equations.”
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